Compound interest
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Find the Compound Interest of the sums given below (compounded annually):

AR &Y T AFFRY HTAR af¥F T F T THI Sy FATIHT:

a) P =Rs.1250, R= 20%, T = 3 years
b) P =Rs.1800, R= 5%, T = 2 years
¢) P =Rs.20,000, R= 10%, T = 4 years
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The compound interest on Rs. 5000 for 3
years at 10% p.a. will amount to

5000 ¥ 1 I T [00% TS & & 3
a¥ FT THISA AT e gem?

a)Rs. 1654  \bfRs. 1655

¢)Rs. 1600 d) Rs. 1565
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What will be the amount if a sum of
10,000 is placed at ClI for 3 year while rate
of interest for the first, second, and third
years is 10%, 5%, and 2%, respectively?

PR 10000 "FIY # 3 9¥ ¥F fav
THiA saef W fear ik uEe,
IR Ay T Y T FAT: 10%,
5% 3T 2% & ar s +=r gen?
11,781 b) 11,244
) 11,231 d) 11,658




Find Cl for the values given below (compounded
semi-annually)

2) Z.,w-jzzs‘ A A T R R e T @

16 264 IHGIY AT Tt
2 a) P Rs.2000, R =20% T =1 years
1
— b)P =Rs.8000, R=10% T=1- years
[8 x 512 o 2
c) P =Rs.34560, R=16.66% T =1 years
256 d)P=Rs.5120, R=62.5% T =1year
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The compound interest on Rs.12000 for 9
2 SIrL ragr_m/ths at 20% per annum, interest being
compounded guarterly, is:-
2% 6up= 1§70 9 g F AT 12000 F9F W 20%
S gfd a¥ & ¥ & s faAE & IromEn
® 2¢ 30= 9o A, T TH sTToT Fheel F1om?
| % . = |. < s.1891.50 b) Rs.1901.50
¢)Rs.1791.50 d) None of these
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The compound interest on Rs.10000 in_2

. / /] eﬂ:years at 20% per annum the interest being
UYG/ 7“16/0” : (0-/. compounded half-yearly, is:

10000 ¥ A T 20% & ¥

W W 2 9§ & AT SAE A dFge
SIS AT H:

a) Rs.14641 b) Rs.14000
Rs.4641 d) Rs.3861
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The compound interest on Rs.8000 in 2%

years at 10% per annum compounded
annually is:-

8000 T4 & TR 9T 10% ufer a¥ Hr
s TFaf T B R @ 2w #
fhdeT saTeT 8 S ?

a)Rs.10164 o[ Rs.2164

c) Rs.2264 d) None of these
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92; jé/ﬁ A certain sum amounts to 34,205.55at 15%
Px X EZ (22 = 426 55T
7o 5° —4%~
The sum is:
—F15— ¢ AEww 15% 9 9 THR s f
P‘—‘—lS‘xz'oxlo & & 2: auf ¥ @gFT 34,205.55 & @
39?2"32 3| AouT PEfaRRd & F fhaer 2
5«6’5—_’ a)33,200 b)3,500 c)X2,700 3,000

3
AL = Sv.
P-4

. 2 .
p-a. in Zgyears, interest compounded yearly.
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What is the compound interest on a sum of

1
X 12,600 for 1= years at 20% p.a., if the
2 1260= 37F0 2 '

interest is —@.’m—paanded half-yearly?
22X (26= 378 (Nearest to a X) ~2 272 (0.

g I SO A IEU-aINF T § T
I X 12.c lzéﬁw‘ﬂTElﬁT%?l’f?lZGOOﬁ?fﬂﬂTfﬁ'ﬂ?

91706 Gy 200 arffe sarer ax w12 ¥ &
THIGY A AT W (ﬁmﬂ z

FHT)
a)X 4,251 \%4,171
c) % 4,169 d) 4,269
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Q.

What is the compound interest on a sum of

7200 for 2% years at 20% p.a., interest

compounded yearly (nearest to an integer)?

afg aiffs w0 & THaf sarer A A= A

ST ar 20% qﬁra&wzgaﬁasfav

37200 F1 AT 9T THIA AT e gem?
(FFeas v qits aF)
a) 4,290 b)<I3,960 c)34,205 ) 3,997

\;\
Zyze =3,
=1
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